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QUESTION 1

An administrator wants to ensure that when virtual machines (VMs) are powered on, Distributed Resource Scheduler
(DRS) places them on the best-suited host. When the cluster becomes imbalanced, the administrator wants DRS to
display recommendations for manual VM migration.

Which DRS automation level should the administrator select? (Choose the best answer.)

A. Manual

B. Partially automated

C. Fully automated

D. Disabled

Correct Answer: B

QUESTION 2

A recently deployed set of test virtual machines are impacting the performance of a company development team project
datastore. The shared cache server appears to be suffering from storage congestion.

Storage I/O Control is already enabled on all company datastores.

Which two steps should the administrator take to improve the performance of the cache server? (Choose two.)
A. Update the storage provider for the existing array.

B. Create a claim rule to control the storage path.

C. Configure the path selection policy.

D. Configure storage shares per virtual machine.

E. Configure storage limits per virtual machine.

Correct Answer: AD

QUESTION 3
What is the minimum number of ESXi hosts required to support vCenter High Availability? (Choose the best answer.)
A.6

B.3
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C.2
D. 4
Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.avail.doc/GUID8FD87389-8CC9-4298-8B08-A1526FB44524.html

QUESTION 4

In a vSphere High Availability (vSphere HA) cluster, which condition can be detected by datastore heartbeating?
(Choose the best answer.)

A. Fault tolerance virtual machine (VM) failover

B. Network isolation

C. Virtual machine (VM) disk failure

D. Datastore All Paths Down (APD) event

Correct Answer: B

Reference:
https://docs.vmware.com/en/\VVMware-vSphere/6.5/vsphere-esxi-vcenter-server-65-availability-guide.pdf

(19)

QUESTION 5

What are two supported ESXi boot options? (Choose two.)
A. NFS

B.iSCSI

C. vVSAN

D. SAN

E. vSphere Virtual Volumes

Correct Answer: BD

QUESTION 6

Which resource pool setting is used to specify the relative priority or importance as high, normal or low? (Choose the
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best answer.)

A. Limits

B. Reservation type
C. Shares

D. Reservations
Correct Answer: C
Reference:

https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-
COD2EFAE1FE4-4867-AC3F-3E70D9A9ED59.html

QUESTION 7

What are two minimum disk requirements for a vSAN hybrid disk group configuration? (Choose two.)
A. At least one magnetic data disk

B. At least one SATADOM device

C. At least two magnetic data disks

D. At least one flash device

E. At least two flash devices

Correct Answer: CD

Reference: https://www.vmware.com/resources/compatibility/vsan_profile.html

QUESTION 8

Which two performance tools can be used to monitor virtual machines outside the guest operating system? (Choose
two.)

A. vCenter Server performance charts
B. Task Manager

C. top

D. esxtop

E. Perfmon

Correct Answer: AE

Reference: https://docs.vmware.com/en/VMware-
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vSphere/6.5/com.vmware.vsphere.monitoring.doc/GUID7F81E75C-39AA-4EF5-A2C2-F82C518AC459.html

QUESTION 9

Which virtual disk option allows a virtual machine to consume the minimum storage capacity? (Choose the best

answer.)

A. Independent persistent

B. Lazy-zeroed thick-provisioned
C. Eager-zeroed thick-provisioned
D. Thin-provisioned

Correct Answer: D

QUESTION 10

What is a minimum disk controller requirement for VMware vSAN? (Choose the best answer.)
A. A disk controller in JBOD mode

B. A disk controller in pass-through or RAID 1 mode

C. A disk controller in pass-through or RAID 5 mode

D. A disk controller in pass-through or RAID 0 mode

Correct Answer: D

Reference:

https://www.vembu.com/blog/vmware-vsan-configuration-setup/

QUESTION 11

Which action is supported over a VMkernel vMotion TCP/IP stack? (Choose the best answer.)
A. Hot migrations

B. Fault tolerance protection

C. Virtual machine cloning

D. Snapshot creation

Correct Answer: B
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QUESTION 12

An administrator is tasked with upgrading an existing vSphere environment to version 7.0. The environment consists of
mounted NFS v3 datastores. The new design requires configuration of NFS v4.1 datastores.

Which statement is true regarding this upgrade? (Choose the best answer.)

A. The NFS v3 datastores can be unmounted and remounted using NFS v4.1.

B. A new VMKernel port for NFS v4.1 needs to be created before the upgrade.

C. Following first boot, NFS v3 datastores are automatically converted to NFS v4.1 by ESXi 7.0
D. ESXi 7.0 does NOT support NFS v4.1.

Correct Answer: B

QUESTION 13

Refer to the exhibit.

Send email notifications @) Repeat
Subject ° Alarm {Alarm name} on vCenter Server : {Target Name} is {New status}
Emailto admin@vimware.com

An administrator enables email notifications as shown in the attached alarm. However, notifications are NOT being
sent.

Where must the mail server settings be configured to resolve this issue? (Choose the best answer.)
A. In vCenter Server General settings in the vSphere Client.

B. In the alarm rule definitions

C. In the ESXi host system config for the cluster node hosting the vCenter Server Appliance

D. In Administration settings in the vCenter Server Management Interface

Correct Answer: A
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QUESTION 14

An administrator would like to make virtual machine templates and ISO images available to all vCenter Server instances
in the data center.

Which feature should the administrator use to achieve this goal? (Choose the best answer.)
A. Host profiles

B. Content libraries

C. Storage policies D. Resource pools

Correct Answer: B

Reference:

https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-254B2CE820A8-43F0-90E8-3F6776C2C896.html

QUESTION 15

An administrator is asked to take a snapshot of a virtual machine prior to an application upgrade. The virtual machine
has one standard virtual machine disk (VMDK) and one physical mode raw device mapping (RDM) attached.

Which statement is true with regard to taking this snapshot? (Choose the best answer.)

A. The administrator will be unable to snapshot the RDM.

B. The administrator will be able to snapshot the standard VMDK in independent persistent mode.
C. The administrator will be able to snapshot the RDM in independent persistent mode.

D. The administrator will be able to snapshot both disks.

Correct Answer: D
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